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e figures in the margin indicate full marks
for the questions

§, Choose and write the correct option ;  1x6=6

(u) 'The decimal equivalent of the hexa-
decimal number (13-28),, is

i) (396)9
() 392)yq
(i) (400);q
fiv) (393);9
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(2)

ALU makes use of — to store the

{c) The e rcsults.

intermediat
(j accumulators
(i) registers

(i) heap

(iv) stack

(d) — bus structure is usually used to

connect 1/0 devices.
(i) - Single

(i) Multiple

(i) Star

(iv) RAM

P15—500/644 -( Continued.)
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(3

(¢) The small ey,
called

Emely fant RAMy

(i) cache "
(i) heap

(iii) ‘accumulatprg

(i) stacks

i Which ' of the followin,

modes is not Possible in gg addre“”ing

' 85?7
(i) Indexed addrcssing

(i) Indirect addressing
(iii) Direct addressing

(iv) Indirect register addresg

Answer the following ;
2x6=12

(a) Draw a 2 to 1 line multiplexer circy;t

(b) What is instruction formato

(c) Which register in CPU js responsible for
~ sequencing the contro] of execution?

(d) Define cache hit, cache hit time and

cache miss penalty.
(e) What is virtual memory?

() What is interrupt?
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(4)

ropn the lollowing -

3. powwer 25y [ e

5055, Draw ine Gk dzgrzin of "d(ﬁ;::;
. 7

. > ; zrcE of SErona.

@) Erpisin e TEPERE O Siiniay

memory = F g ity
pod es L5 L £

f Expizin vasious i
amonly used in processors. .

() Explzin with dzgzm znd troth e,
JHK Ep-fop. c
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